Solve for x using the quadratic formula. e

8X°+6x+20=0

25x° +5x-2=0
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Answer Key

Solve for x using the quadratic formula.

8x°+6x+20=0

« = =(6) £N(6)’ - 4(-8)(20)

2(-8)
_-6+V676 _-6+26
16 16
=20 32 =.5
16, -16 4

25x° +5x-2=0

_ -(5) +\(5)° - 4(25)(-2

2(25)
_-5+4225 _-5+15
50 50
=10 20 -1 _2
50, 5 5 5
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_-6+26

_-5+15

_ -6 +\/36 + 640

-16

-6 - 26
-16

_ -5 +4/25 + 200

50

-5-15
50

50
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Solve for x using the quadratic formula. e

6X°+2X-8=0

BX°+X+2=0
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Answer Key

Solve for x using the quadratic formula.

6X°+2x-8=0
« = =(2 £N(2)° - 4(6)(-8 _2+\4+192
2(6) 12
_-2+N196 _-2+14 _-2+14 -2-14
12 12 12 ' 12
:1_2 ﬁ :1_4
12, 12 '3
X2 +X+2=0
= =(1) £V(1)° - 4(-6)(2 _-1+41+48
2(-6) 12
:M :'1i7 :-1+7 1-7
-12 -12 12 -12
-6 -8 -_12
-12, -1 2'3
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Solve for x using the quadratic formula. e

-15x°-4x+4=0

AX®-6x-18=0
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Answer Key

Solve for x using the quadratic formula.

-15%° - 4x + 4 =0

x = <(-4) £\(-4)° - 4(-15)(4)

2(-15)
_ 4 +N256 —_4+16
-30 -30

20 12 -.2 2

-30, -30 3'5
4x° - 6x - 18 = 0
x = 2(-6) £\(-6)° - 4(4)(-18)

2(4)
_6+Y324 _6+18
8 8

=24 -12 - 3, - 3

8, 8 -2
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_ 4 +\16 + 240
-30
_4+16 4-16
30 ' -30
_6+Y36 + 288
8
_6+18 6-18
g8 ' 8
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Solve for x using the quadratic formula. e

B5X°-TX+6=0

Ax® +10x+4 =0
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Answer Key

Solve for x using the quadratic formula.

5X° - 7X+6 =0
(= (NN - 4(B)6) - 7+N49 +120
2(-5) -10
_7+N169 _7+13 _7+13 7-13
-10 -10 -10 ' -10
=20 -6 :-2,3
-10, -10 5
A% + 10X + 4 =0
« = =(10) +V(10)° - 4(4)(4 _-10++100-64
2(4) 8
_-10+V36 _-10+6 _-10+6 -10-6
8 8 8 ' 8
--4 -16 :-l,-z
8, 8 2
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Solve for x using the quadratic formula. e

6x°-4x-10=0

A +3x+10=0
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Answer Key

Solve for x using the quadratic formula.

6Xx°-4x-10=0

o = <(-4) +\(-4)* - 4(6)(-10)

2(6)
=411/256 _4+16
12 12

:@ ﬁ :5 -1
12, 12 3’
A +3x+10=0
_ -(3) +N(3)” - 4(-4)(10
2(-4)
_-3+4169 _-3+13
-8 -8
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-3+ 13

_ 4 +16 + 240
12

-3 i\/9 + 160

-8

-3-13
-8

-8
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Solve for x using the quadratic formula. e

2x° + 7Tx+5=0

8X°+4x+4=0
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Answer Key

Solve for x using the quadratic formula.
2X° +7x+5=0

=N ND2-42)5)  —-7+/49-40
2(2) 4
_7+\9  _7+3 _-7+3 -7-3
4 4 4 ’ A
=4 ﬁ :-1’_5
4,4

8X°+4x+4=0

(= (8 £N(@4)’ - 4(-8)(4)  —-4+\16 +128
2(-8) 16
_-4+N144  _-4+12  _-4+12 -4-12
16 16 16 ' -16
-8 16 =.1 1
16,-16  2°
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Solve for x using the quadratic formula. e

2%x°-x-10=0

24x° +8x+2=0
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Answer Key

Solve for x using the quadratic formula.

2%x°-x-10=0
w= DV’ -42)(10) =121 +80
2(2) 4
_1+N81 _1+9 _1+9 1-9
4 4 4 ' 4
:1_0 ﬁ :5 -2
4 4 2
24x°+8x+2=0
2 \
o = =(8) £N(8)” - 4(-24)(2 _-8+V64 + 192
2(-24) _48
_8+\256 _-8+16 _-8+16 -8-16
48 A8 48 ' -48
-8 24 _-_11
_A8 . -48 6 2

Online Maths Tutoring https://clueylearning.com.au




Solve for x using the quadratic formula. e

-15x° +8x + 12 =0

21x°+x+2=0
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Answer Key

Solve for x using the quadratic formula.

-15x° +8x+12=0

. = =(8) +V(8)° - 4(-15)(12)

2(-15)
8+4784 _-8+28
-30 -30

-20 36 =.26
-30, -30 3’5
21X +x+2=0
_-(1) V()% - 4(-21)(2
2(-21)
-1+4169  _-1+13
-42 -42
=12 -14 -_2 1
42, -42 7’3
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_ -8 +764 + 720
-30

_-8+28 -8-28

-30

_-1+41+168

-42
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Solve for x using the quadratic formula. e

12x°-2x-2=0

-6x° + 9x + 27 =0
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Answer Key

Solve for x using the quadratic formula.

12x°-2x-2=0

« = =(:2) £N(-2)* - 4(12)(-2)

2(12)
_2+4100 _2+10
24 24
=12 8 -1 _1
24 .2 2' 3

BX°+9x+27=0

_ -(9) +N(9)* - 4(-6)(27
2(-6)
_-9+4729 _-9+27
-12 -12
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-9+ 27

2 +N4 + 96

24

-0 +4/81 + 648
212

-9-27
-12

-12
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Solve for x using the quadratic formula. e

AX° +2x-20=0

S12x° +10x-2=0
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Answer Key

Solve for x using the quadratic formula.
4x° +2x-20=0

(=2 +V(2)2-4(4)-20) - -2+\4+320

2(4) 8
_2#\324 _2+418 _-2+18 -2-18
8 8 8 ' 8

=16 -20 :2,-5
8, 8 2
-12x° +10x-2=0
=10 +V(10°- 4(-12)(-2)  _-10+Y100- 96
2(-12) -24
_-10+V4 _-10+2 _-10+2 -10-2
-24 -24 24 ' 24
=8 -12 -11
24,24 3’2
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